FHERE VRO (1) #F

D 7 + 4 = 13 7 + 7
@ 7 + 5 = 12 @ 3 + 1
® 3 - 2 = 1 6 + 2
@ 3 - 3 = 10 8 + 7
® 6 + 2 = 30 @ 9 + 2
® 4 e 4 = 10 @ 5 2 1
@ 8 e 5 = 13 @ 4 + 1
2 e 2 = 1-0 @® 8 2 1
@ 7 - 6 = 11 @ 7 + 1
7 - 7 = 10 @® 2 R 1
W 9 - 4 = 2 ® 6 R 2
@ 1 R 1 = 10 @ 8 R 7
® 2 R 2 = 10 6 R 1
2 R 2 = 10 @® 4 + 4
® 5 R 4 = 7 R 1
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FTEHE FVEGxX) (2 BE

@® 9 + 2 = 4.1 1 + 1
@ 3 + 3 = 10 @ 3 + 1
©) 2 -+ 1 = 20 4 -+ 2
@ 1 -+ 1 = 10 2 -+ 1
® 2 - 2 = 1---0 @ 3 . 1
® 8 + 6 = 12 @ 1 -+ 4
@ 9 + ) = 14 @ 9 -+ 3
9 + 9 = 10 @ 6 -+ 2
©) 2 + 1 = 20 @ 9 -+ 1
5 + 1 = 5.-:0 @ 6 - 3
(@) 2 - 2 = 1---0 @ 9 . 3
@ 8 + 4 = 20 @ 9 + 9
® 7 + 3 = 21 2 - 2
2 + 2 = 10 @ 1 - 1
® 9 + 7 = 12 3 + 3
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FTEHE FVEGxX) () RE

@® 7 + 7 = 10 7 + 7
@ 9 - 6 = 13 @ 4 = 4
©) 1 - 1 = 10 9) + )
@ 2 - 1 = 20 3 + 1
® 7 + 6 = 1--1 @ 4 = 2
® 6 + 1 = 60 @ 4 = 3
@ 9 + 4 = 21 @ 5 = 4
7 + 5 = 12 B 1 - 1
@ 9 = 2 = 4 @ 5 = 2
4 -+ 2 = 20 ® 2 - 1
@ ) . 2 = 21 @ 3 - 1
® 4 + 1 = 40 @ 8 + 1
® 8 - 5 = 13 ) + 1
9 - 3 = 30 @ 2 + 2
® 8 - Ji = 11 7 + 3
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FEHE FVEGX) (4) BE

D 4 + 3 = {1 4 + 1
@ 8 + 2 = 40 @ 2 + 1
® + 1 = 10 3 + 1
@ 4 + 3 = {1 5 + 3
® 4 e 3 = 1 @ 3 2 3
® 5 e 3 = 12 @ 3 2 3
@ 7 + 1 = 70 @ 9 2 8
3 e 2 = e ® 3 + 1
@ 6 - 4 = 12 @ 7 + 1
8 + 7 = 11 ® 1 + 1
@ 6 - 5 = -1 ® 6 + 4
@ 5 R 5 = {0 @ 1 + 1
® 2 + 2 = 10 1 + 1
4 + 3 = {1 ® 5 R 5
® 8 + 4 = 20 3 + 2
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SHERE FVEOX) (6) B#F

® 7 + 1 = 70 7+ 3
@ 3 + 1 = 30 @® 2 + 2
® 6 + 1 = 60 6 = 2
@ 8 + 3 = 22 2 = 2
® 7 + 6 = 11 @® 1 + 1
©® 5 + 2 = 2+ ©® 5 + 3
@ 71 + 5 = 12 @ 9 + 6
5 <+ 4 = 11 ® 6 + 6
© 8 + 1 =11 @® 9 + 9
1+ 1 =10 ® 1 + 1
® 4 + 1 = 40 ® 8 + 1
@ 9 + 5 = 14 @® 9 + 8
® 3 + 1 = 3-0 3+ 2
6 <+ 4 = 12 @® 2 & 2
® 4 + 4 = 10 4 = 3

SRR T0 | PN THBROPEZEEAK TOIET DEEL | https.//chugakujuken-zero-ouen.pal-fp.com/



FHEHE FYEGX) (6) R

@ 3 - 1 = 30 9 + 3
@ 2 - 2 = 10 @ 2 + 1
® 7 - 9 = 12 3 - 3
@ 9 - 1 = 50 2 - 2
® 1 - 1 = 10 @ 9 - 3
® 6 - 4 = 12 @ 2 - 1
@ 4 - 2 = 20 @ 4 - 4
1 - 1 = 10 @ 9 - 9
©) 7 - 7 = 10 @ 7 - 3
1 + 1 = 1.0 @ 6 - 3
Q) 4 - 3 = 11 @® 3 - 3
@ 9 - 3 = 12 @ 7 - 6
@ 9 - 1 = 90 9 - 3
8 - 6 = 12 ) 3 - 3
@® 9 - 2 = 21 4 - 3
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FHERE VRO () %

D 2 + 2 = 10 3 + 3
@ 6 + 5 = {e ™ 9 + 2
® 3 + 3 = 1-0 3 + 2
@ 8 + 6 = 12 2 + 2
® 4 e 3 = - @ 4 2 3
® 4 + 1 = 40 @ 2 + 1
@ 4 e 3 = - @ 5 2 3
7 + 1 = 70 ® 6 + 5
@ 4 - 4 = 10 @ 1 + 1
4 + 3 = -1 ® 7 + 5
@ + 1 = 10 ® 4 - 3
® 2 + 2 = 10 @ 5 + 4
® 9 R 6 = 13 4 R 3
7 + 2 = 31 @ 6 R 5
® 3 + 1 = 30 9 R 5
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FTEHE FYE(X) (8) fRE

@ 8 - 7 = 11 9 + 2
@ 3 - 1 = 30 @ 9 + 9
® 1 - 1 = 10 3 - 3
@ 3 - 3 = 10 9 - 9
® 4 - 2 = 20 @ 9 - 3
® 4 - 3 = 1-1 @ 3 - 1
@ 8 - 4 = 20 @ 3 - 1
7 - 7 = 10 @ 9 - 1
©) 9 - 3 = 30 @ 9 - 2
1 + 1 = 1.0 @ 8 - 8
Q) 4 - 1 = 40 @® 9 - 8
@ 9 - 9 = 10 @ 4 - 2
@ 1 - 1 = 10 1 - 1
3 - 3 = 10 ) 8 - 4
@® 2 - 1 = 20 2 - 2
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